你会使用正确的词语搭配吗？

1. Three of the following nouns follow the verb 'catch' very naturally. Which verb and noun combination does NOT go together?
A. catch a fish
B. catch a bus
C. catch a cold
D. catch a new word in English
2. Three of the following nouns follow the verb 'have' very naturally. Which verb and noun combination does NOT go together?
A. have a meeting
B. have business with someone
C. have a cup of coffee
D. have a baby
3. Which of the following verbs does NOT fit into this sentence: "The Health Authority has _____________ its decision and will now allow the fertility treatment to go ahead."
A. altered
B. changed
C. moved
D. reversed
4. Three of the following nouns follow the verb 'make' very naturally. Which verb and noun combination does NOT go together?
A. make your bed in the morning
B. make progress
C. make a noise
D. make the weekly shopping
5.  Which of the following words fills the gap? After the day I've had, I need a _______ drink.
A. strong
B. heavy
C. powerful
D. sharp
6. Which of the following words cannot fill the gap? A ________ breeze blew off the sea.
A. cooling
B. stiff
C. strong
D. windy

7. Which noun does NOT go with the adjective 'mild'
A. mild cheese
B. mild cigarette
C. mild weather
D. mild tea
8. Which of the following CAN'T you tell?
A. tell a story
B. tell an excuse
C. tell a lie
D. tell a joke
9. Which of the following adjectives does NOT go with rain?
A. light
B. heavy
C. wet
D. pouring
10. Why do so many men take ____ golf when they retire?
A. over
B. 0ff
C. up
D. after
答案： 1. D  2. B   3. C  4. D  5. A  6. D  7. D  8. B  9. C  10. 
